
2x +3 = x 5
2x — x +3 = x — x —5

x +3=—5
• x=—8

—Tip
When subtracting monomials, subtract coefficients, not vaables.

Solve the following equafions. Write the answers In the correct box. When you are
finished, the sum of each row, column, and diagonal should equal —2.

3x ÷6=2x +13

5x —8=4x —15

2x ÷1= x —5

x +9= 2x +5

3x —8=4x —4

6x ÷8=4x +12

7x —6= 6x —5

18x —16=19x —15

3x ÷17=2x +17

—4x +8=—2x +12

5x —6= 4x —9

lix +16=15x +4

20x +25=19x +20

2x —17=x —12

7x —16=6x —10

2x —5= 3x +3

Solving Equalities with Variables on Both Sides
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